First, let us analyze 
$$\|x^t - x^*\|^2$$

$$\| x^{t+1} - x^* \|_{2} = \| x^{t-1} - 2\eta \left( f(x^t) - f(x^t) \right) + \eta^2 L^2$$

$$\leq \| x^{t-1} - x^* \|_{2} - 2\eta \left( f(x^t) - f(x^t) \right) + \eta^2 L^2$$

$$\leq \| x^{t-1} - x^* \|_{2} - 2\eta \left( f(x^t) - f(x^t) \right) + \eta^2 L^2$$

$$\leq \| x^{t-1} - x^* \|_{2} - 2\eta \left( f(x^t) - f(x^t) \right) + \eta^2 L^2$$

$$\leq \| x^{t-1} - x^* \|_{2} - 2\eta \left( f(x^t) - f(x^t) \right) + \eta^2 L^2$$

$$\leq \| x^{t-1} - x^* \|_{2} - 2\eta \left( f(x^t) - f(x^t) \right) + \eta^2 L^2$$

$$\leq \| x^{t-1} - x^* \|_{2} - 2\eta \left( f(x^t) - f(x^t) \right) + \eta^2 L^2$$

$$\leq \| x^{t-1} - x^* \|_{2} - 2\eta \left( f(x^t) - f(x^t) \right) + \eta^2 L^2$$

$$\leq \|X_{\xi} - x_{k}\|_{S} - 5U(t(x_{\xi}) - t(x_{*})) + N_{S}\Gamma_{S}$$

$$f(x_{\star}) > f(x_{+}) + \Delta f(x_{+})_{\perp}(x_{\star} - x_{+})$$

$$\geq f(x_{+}) - f(x_{\star})$$

=> 
$$f(x_{f}) - f(x_{f}) = \frac{2d}{\|x_{f} - x_{f}\|_{2} - \|x_{f+1} - x_{f}\|_{2} + \delta_{5}\Gamma_{5}}$$

$$= > \left(\frac{\sum_{t=0}^{t-1} f(x^{t})}{\sum_{t=0}^{t-1} f(x^{t})} - f(x^{t})\right) = \underbrace{\sum_{t=0}^{t-1} \frac{1}{|x^{t}-x^{t}|^{2} - ||x^{t+1}-x^{t}||^{2} + \eta^{2}L^{2}}_{T}$$